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QUESTION 1

What are two benefits of the Hitachi Command Suite? (Choose two.)

A. agentless host discovery

B. integrated installer for core Hitachi Command Suite software

C. one license key for all Hitachi Command Suite software products

D. automated microcode update management across all Hitachi storage systems

Correct Answer: AB

QUESTION 2

You use Hitachi Device Manager to provision storage. During the provisioning process, what information must you
provide? (Choose two.)

A. the name of the host being provisioned from the storage system

B. the WWN of the FC port of the storage system connected to the host\\'s HBA
C. the FC port name of the storage system connected to the host\\'s HBA

D. the FC path priority settings

Correct Answer: AC

QUESTION 3

Which two Hitachi Device Manager CLI commands will prevent simultaneous updates on a storage array? (Choose
two.)

A. AddArrayReservation

B. DeleteArrayLock

C. ModifyArrayReservation
D. GetArrayLock

Correct Answer: AC

QUESTION 4
A customer has identified a performance bottleneck with Online Transaction Processing (OLTP) production host LUNSs.

The performance improvement plan includes a change to the Hitachi Dynamic Link Manager load balancing algorithm
which is currently set to Round Robin. Which setting should the customer use?
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A. Least I/O

B. Least block

C. Extended Round Robin

D. Extended Least block

Correct Answer: A

QUESTION 5
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A customer would like to deploy Hitachi Global Link Manager (HGLM) to monitor for path errors on their SAN hosts
running Hitachi Dynamic Link Manager (HDLM). Which method is used by the host to alert the HGLM server?

A. SNMP
B. SMTP
C. SMS
D. SIM

Correct Answer: A
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